(@/m3)

$46.6.23 $46.6.24 S57.6.1 On
(- miwh)
S57.5.31 (%)
4 0.05 0.05 0.03 5
4 0.10 0.10 0.05 5
20 0.07 0.05 0.04 4
4 20 0.18 0.05 0.05 4
1 4 0.25 0.20 0.15 4
1 0.30 On=0s 0.20 On=0s 0.15 On=0s 4
20 0.20 0.15 0.10 Os ) S60.9.9
4 20 0.35 0.20 0.15 Os
4 0.35 0.30 0.15 Os
0.15 Os $60.9.10 H2.9.9
0.30
20 0.15 0.10 0.05 6 )
4 20 0.25 0.20 0.10 6 5,000kcal/kg
4 0.35 0.30 0.15 6 0.70
0.15 6 (On=0s)
0.30 0.20 0.15 4 )
0.15 4
4 0.30 On=0s 0.20 On=0s 0.15 On=0s 6 )
4 0.40 On=0s 0.20 On=0s 0.20 On=0s 6
0.20 On=0s 6
0.05 0.05 0.03 7
0.10 0.10 0.03 7
4 0.25 0.10 0.05 Os
4 0.30 0.15 0.10 Os
0.20 0.20 0.10 Os
0.15 0.15 0.10 Os
4 0.25 0.20 0.10 Os
4 0.30 0.20 0.15 Os
0.05 0.05 0.03 Os
4 0.15 0.10 0.08 Os
4 0.40 0.15 0.08 Os
0.13 0.10 0.08 Os
0.10 0.10 0.08 Os
4 0.10 0.10 0.05 Os
4 0.20 0.20 0.10 Os
4 0.10 0.10 0.05 Os *
4 0.20 *0.30 0.20 0.10 Os
4 0.15 On=0s 0.10 On=0s 0.08 On=0s 11
4 0.25 On=0s 0.20 On=0s 0.10 On=0s 11
4 0.10 0.10 0.05 6 *
4 0.15 *0.18 0.10 0.08 6 ( 1 md )
0.30 0.20 0.15 6
0.10 0.10 0.05 8
0.40 0.40 0.20 15
0.30 0.30 0.15 15
4 0.10 0.10 0.05 10
4 0.20 0.10 0.05 10




@/m*)

$46.6.23 $46.6.24 S57.6.1 On
( mivh)
$57.5.31 )
9 4 0.10 0.10 0.05 18
4 0.20 0.20 0.10 18
4 0.15 On=0s 0.10 On=0s 0.08 On=0s 15
4 0250n=0s | 0200n=Os | 0.150n=Os | 15
4 0.10 0.10 0.05 15
4 0.15 0.15 0.08 15
4 0.10 0.10 0.05 16
4 0.30 0.15 0.08 16
4 0.10 0.10 0.08 15
4 0.20 0.10 0.10 15
10 4 0.15 0.10 0.08 6 8”
4 020 *0.30 0.20 0.10 *0.15 6 |0
( 1 my
n 050 *0.60 0.40 0.20 6 | * 2y
4 0.15 0.10 0.08 16 | #6623 -
N
4 0.30 0.20 0.10 16 0.35
12 aok) 0.20 0.20 0.10 Os
aok) 0.15 0.15 0.08 Os
0.10 0.10 0.05 Os
13 H10.7.1 H10.7.1
4t/h 0.08 0.04 12
2 4t/h 0.15 0.08 12
2t/h 0.25 0.15 12
14 4 0.10 0.10 0.05 Os
4 0.15 0.15 0.08 Os
0.15 0.15 0.10 Os
0.15 0.15 *0.10 0.08 Os | * 4 m,
0.15 010 *0.15 0.08 Os | *
4 0.10 0.10 0.05 Os
4 0.20 0.20 0.10 Os
4 0.18 0.10 0.08 16
4 0.30 0.20 0.10 16
18 ) 0.30 0.30 0.15 6
20 0.05 0.05 0.03 6
21 0.15 0.15 0.08 15
0.20 0.20 0.10 Os
23 0.10 0.10 0.05 16
0.15 0.15 0.08 15
24 4 0.10 0.10 0.05 Os
4 0.20 0.20 0.10 Os
25 4 0.10 0.10 0.05 Os
4 0.15 0.15 0.08 Os
26 4 0.10 0.10 0.05 Os
4 0.15 0.15 0.08 Os
0.10 0.10 0.05 Os
) 0.05 0.05 0.03 6
28 0.15 0.15 0.10 7




@/m*)

(i) $46.6.23 $46.6.24 $57.6.1 On
$57.5.31 )
29 $63.2.1 $63.1.31
16
0.04
30 $63.2.1
13
0.08
31 0.05 0.05 0.04 0
32 0.05 0.05 0.04 0
(
1) On=0s 2 On=0s




